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00000010 x 25 =250 (m’)

00000000 =250 @m’)x[2.3x 10" (J/ m’)]=5.8x 10’ J/day
5.8 x 10° kJ/day

5.8 x 10° J x [(1 kwh) / (3.61 x 10° I)] = 1.6 x 10’ kwh
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00000 Q60010°%x (10)=2.6 x 10" (m’) 2.6 x 10" cm’
0O0026x10°g

0000000 q=Q.6x 10" g)x (4.184 J/g'K)x (1.0K)= 1.1 x 10" 7J
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Sse000000OO00O0ODOOYS CcCUODObO0DbDUODbOUObDOObOObUOobObobUuOobO 225mL O
CoO=1.00 gmL)DOOD0OO0OO0O0O0OO0DOO0ODOODOO210°cCcODO0ODO0ODOO0O0OODO0O 23.1°C
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Qoo =—qoU0

gbooobg cypgdon

(55.02)x (C gp)x(296.3 K—-373.0 K) =— (225 g) x (4.184 J/g*K) x (296.3 K — 294.2 K)

—4220g*K+(C ;) =-1977J
Coo =04697/gK
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00050.0°CO0 00°CO000D000D0OOO0
Qi = (2.1 1/ g*K)(500 g)(273.2 K - 2232 K) = 5.3 x 10* J

00 00°CO000000OO0OO0OOOO
q=500g (3337 /1g0)=1.67 x 10°J

000O0000.0°CO0 100.0°CO000000000O0
4 = (4.2 7/ g°K) (500 £)(373.2 K - 273.2 K) = 2.1 x 10°J

00 100.0°CO0000O000O0O0OOOO
Qs =500g (22607 /1g O)=1.13x 10°7J



000 100.0°CO0 2000°CO00000000000
s = (2.0 J/ g°K) (500 £)(473.2 K - 373.2 K)= 1.0 x 10° J

=+ Q@+ q+qt+qs=17x10°J OO 1700 kJ
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0000000 0o0obOOo0obOgo?2s/32.04=0.780 mol CH;OH

0000000000000000000000000
0.780 x 37.43 = 29.2 (kJ)
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C(s) + 2 Ha(9) CHig) OH=?
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(1) C(s) + O,(q) CO,(g) AH = -393.5 kJ
(2) Hax(g) + 1/205(9) H,O() AH = —285.8 kJ
(3) CHy(g) +2 O5(9) COx(g) + 2H,0() AH=-890.3 kJ
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(3) CO2(g) + 2 H20(I)

CHa(g) + 2 O2(g) AH = AH3 = +890.3 k.
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(2)x2 2H5(g) + O»(g) 2 H,O(l) AH = -571.6 k.
00000000003 0000000000000000000000000000000000
(1) C(s)+ Ox(g) » COxg) AH=-393.5k]

(2) 2Hyg)+ Oxg) — 2H0() AH=-571.6kJ

(3) COx(g)+2 HO(l) — CHy(g)+ 2 Ox(g) AH=+890.3 kJ

C(s) + 2Hxg) -— CHi«g) AH=-748 kI

obde7000D00O0DODOODOODODODOO
0000000000 0o0b0oobt-4el Wmol DOODDODODODODOOODOO46.1 KJODOODOOODUO
goooo



oo
Oooooo0ooobooodgdon 1000 NH(gUOOOOoooodoooodooooON, 000 H,
gbog2secol1oboobobobobooonoonogon

1/2 Ny(g) + 3/2 Hy(g) — NHz(g)  AH°,, = AH% = —46.1 k.
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2 C3H5(NO,)3 ()— 3 N2(g) + 1/2 O2(g) + 6 CO2(g) + 5 HO(g.
DD|:|DD|:|DDDDDDDDDDDDDAH‘}DD364kJDDD

Table 6.2 000000000000 00000O0O000O10g 0 00DO0O0O0ODO0ODODOOODOODOO0
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Table 6.2 1

AH® [COx(g)] = —393.5 kJ/mol

AH% [H,O(g)] = —241.8 kJ/mol
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O=06xAH% [COxg)]+5xAHG [H0(g)]-2xAH% [C:Hs(NO2)s (]
=[6 x (-393.5)] + [5 x (-241.8)] — [2 x (-364)] = 2842 (kJ)
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10.0g /227.1 g=0.0440 (mol 00O D0OODOO)
0.0440 x 2842 /2 = 62.6 kJ
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CgHyg(l) + 25/2 O, — 8 CO2(g) + 9 HO(l
120kg 000000000 1.00g00000000O00O0OOODOOO0OOODODODNONO?25.00°C(298.15 KO O
33.20°C306.35 K0 000000000000 (Ceomy)d 837)/K OOOCsH;s, 1.00 g OO0 DD ODOOOOOMO
ooooooa

00
q, =(0000)x(@@OOO0)x(@OOOAT)

= (4.184) x (1.20 x 10°) (306.35 — 298.15) = +41.2 x 10’ J
O0000000000000000000000MO00000000000000000ATOO0000
ooo
Qooo = (Coomp)(AT) = (837) (306.35 — 298.15) = +6.86 x 10° J
0000000000000000000000 q, +q,,,00000000000
O0000 =00y +qu00)=-48.1k)

0000 1000000000000 =(-48.1)x (114.2)=-5.49 x 10° (kJ/mol)
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Mg(s) + 2 HCl(aq) — Hx(g) + MgCl,(aq;
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q=1[100. 0+ 0.5] x (4.20 J/g*K) x (318.0 K —295.4 K)=9.54 x 10° J
00000 05000 MgOOOOOOOOO1.00mol 000000
MgOODOOODOOO =(9.54x 10’ J/0.500g) x (24.31 g) = 4.64 x 10° J/mol



